Hadacheck v. Sebastian:   Reading Comprehension Self-Quiz

(1) Who was Sebastian?

(a) The landowner of the parcel containing the brickyard that was shut down.
(b) The chief administrator of the prison where the landowner was incarcerated.

(c) The Chief of Police of the City of Los Angeles.

(d) The presiding clerk for the California Supreme Court.
(2) On pp. 111-12, there is a sequence of six paragraphs each beginning with the word, “That.”  These paragraphs describe which of the following:

(a) Allegations in the landowner’s Habeas Corpus petition.

(b) Responses to the petition made by the defendant in error.

(c) Findings of fact of the California Supreme Court.

(d) Findings of fact of the United States Supreme Court.

(3) What did the Court mean when it said, “there are substantial traverses made by the return to the writ….” (p.112)

(a) Rereading the writ revealed internal contradictions.
(b) The pleadings submitted by the defendant in error significantly disagreed with the allegations in the Habeas Corpus petition. 
(c) The California Supreme Court’s findings of fact significantly disagreed with the allegations in the Habeas Corpus petition. 


(d) None of the above.
(4) The landowner’s claimed that the ordinance under which he was convicted was “discriminatory” because it did not prohibit brickyards in other residential neighborhoods in the city.  Which of the following is true of this discrimination claim?
(a) The landowner provided supporting evidence directly showing that the level of emissions from brickyards in other neighborhoods was greater than from his brickyard.
(b) The defendant in error denied that brickyards were permitted in other residential neighborhoods.
(c) The California Supreme Court rejected the claim because it found no evidence that the challenged ordinance was the result of any improper motivation or intent to discriminate.
(d) The United States Supreme Court rejected the claim because it found significant differences between the neighborhood where the challenged ordinance was in effect and the other neighborhoods identified by the landowner.
(5) Which is true of the harm to neighboring residents caused by the landowner’s brickyard?
(a) The landowner claimed that the harm was considerably less than the benefits flowing from the operation of his business
(b) The defendant in error provided affidavits stating that the emissions from the brickyard sometimes caused neighbors to experience serious discomfort and illness.
(c) The California Supreme Court refused to address the extent of harm because it needed to defer to the decisions of the local legislative body.
(d) The United States Supreme Court said that the extent of the harm was legally irrelevant under the Police Power.
(6) Perhaps the landowner’s most persuasive argument is that the city government should not be able to shut down his brickyard without compensating him, because when he established his business, it was lawful, it was a considerable distance from any residential area, and it was not harming anyone.  Which of the following quotes from the opinion (all on p.113) is the United States Supreme Court’s most direct response to this argument?

(a) “[T]he determination of prohibition was for the legislature….” 
(b) “[A] necessary and lawful occupation that is not a nuisance per se cannot be made so by legislative declaration.” 
(c) “A vested interest cannot be asserted against [the police power] because of conditions once obtaining.”

(d) “We think the conclusion of the court is justified by the evidence….”
(7) The opinion discusses Reinman v. Little Rock on pp. 113-14.  How did Reinman fit into the United States Supreme Court’s analysis?
(a) The Court distinguished Reinman and declined to follow it because the business at issue in that case was not tied to one locality the way the brickyard in Hadacheck was tied to the clay deposits on the parcel where it was located.
(b) The Court held that the City of Los Angeles had correctly addressed the health concerns raised by brickyards and had appropriately followed the legislative determination of the City of Little Rock that was described in Reinman.
(c) The Court distinguished Reinman and declined to follow it because the odors and health effects of livery stables were clearly more burdensome to the surrounding community than those of brickyards.
(d) The Court followed Reinman both as to the scope of the police power and as to its result.
(8) The opinion discusses Ex Parte Kelso on p.114.  How did Kelso fit into the United States Supreme Court’s analysis?

(a)  The Court says it is irrelevant because it is a California state court case.

(b)  The Court adopts its reasoning.
(c)  The Court distinguishes it because clay deposits are more easily extracted than stone from a quarry.

(d)  The Court does not decide whether it would follow Kelso.
(9) Which of the following facts contributed significantly to the Court’s analysis?

(a) Eliminating the brickyard was necessary to allow desirable development of residential areas around it. 
(b) The landowner’s parcel was still worth $60,000 without the brickyard operating.
(c)The landowner had owned the parcel for more than a dozen years before the city shut down the brickyard, so he already had received a sufficient return on his investment. 

(d) None of the above.
